


         

B.Com. DEGREE EXAMINATION – 
JANUARY 2009.

Third Year
Commerce
ADVANCED ACCOUNTING

Time : 3 hours
Maximum marks : 75

Answer for 5 marks question should not 
exceed 2 pages.

Answer for 15 marks questions should not 
exceed 5 pages.

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions.

1. What is Realisation account? How is it different from Revaluation Account?

wºÄ PnUS GßÓõÀ GßÚ? ©Ö©v¨¥mk PnUQ¼¸¢x Cx GÆÁõÖ ÷ÁÖ£mhx?

2. Define goodwill. State the circumstances under which the need for valuation of goodwill arises in case of joint stock company.

|ß©v¨¦ – Áøµ¯Ö. J¸ Tmk £[S {Ö©zvß |ß©v¨ø£ PnUQh ÷uøÁ¨£k® `Ì{ø»PøÍ SÔUPÄ®.

3. State Legal Provisions regarding the Reduction of share capital.

£[S •uÀ SøÓ¨£uØPõÚ \mh åµzxUPÒ ¯õøÁ?

4. Distinguish between Hire Purchase and Instalment Purchase system.

ÁõhøP öPõÒ•uÀ ©ØÖ® uÁønU öPõÒ•uÀ •øÓ ÷ÁÖ£kzxP.

5. Write notes on :

(a)
Sublease

(b)
Short working suspence a/c

(c)
Minimum rent a/c.

SÔ¨¦ GÊxP.

(A)
RÌUSzuøP

(B)
SøÓ EØ£zv AÚõ©zxU PnUS

(C)
SøÓ¢u£m\ ÁõhøP P/S.

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. Explain and illustrate the super profit method of valuation of goodwill.

ªøP C»õ£ •øÓ°À |ß©v¨ø£ PnUQkÁx £ØÔ Euõµnzxhß ÂÁ›UPÄ®.

7. A, B and C are partners sharing profits and loses 4/7ths. 2/7ths, 1/7ths respectively. Their Balance sheet on 31st December 1995 was as follows :

	Liabilities
	Rs.
	Assets
	Rs.

	Capital A/c
	
	Good will
	15,000

	
A
	45,000
	Stock
	22,500

	
B
	30,000
	Debtors
	16,500

	
C
	25,000
	Land & Building
	30,000

	Bills payable
	3,000
	Machinery
	39,750

	General Reserve
	10,500
	Motor Van
	7,750

	Creditors
	22,500
	Cash
	4,500

	
	1,36,000
	
	1,36,000


On the same date A retired from the business and the following adjustments were made :

(a)
Firm’s goodwill was valued at Rs. 36,000.

(b)
Assets and liabilities are to be valued as : 


Stock – Rs. 18,000


Land and Buildings – Rs. 33,900


Debtors – Rs. 15,750


Machinery – Rs. 37,500


Creditors – Rs. 21,000.

(c)
B to bring in Rs. 30,000 and C Rs. 7,500 as additional capital.

(d)
A was to be paid Rs. 24,300 in cash and the balance of his capital account to be transferred to his Loan Account.


Prepare Revaluation Account, Partner’s Capital Accounts, cash account and the balance sheet of the firm after A’s retirement.

H, ¤ ©ØÖ® ] ‰Á¸® TmhõÎPÒ. AÁºPÒ C»õ£ ©ØÖ® |mh ÂQu® •øÓ÷¯ 4/7, 2/7 ©ØÖ® 1/7. 31.12.1995 AßÖ C¸¨¦{ø»U SÔ¨¦.

	ö£õÖ¨¦PÒ
	¹.
	ö\õzxUPÒ
	¹.

	•uÀ P/S
	
	|Øö£¯º
	15,000

	
H
	45,000
	\µUS
	22,500

	
¤
	30,000
	PhÚõÎPÒ
	16,500

	
]
	25,000
	{»® ©ØÖ® Pmih®
	30,000

	ö\¾zu ÷Ási¯ 
	
	C¯¢vµ®
	39,750

	 Esi¯À
	3,000
	÷Áß
	7,750

	ö£õxUPõ¨¦
	10,500
	öµõUP®
	4,500

	PhÜ¢÷uõº
	22,500
	
	

	
	1,36,000
	
	1,36,000


A÷u |õÎÀ "H' Â¯õ£õµzv¼¸¢x Â»P, ¤ßÁ¸® \›UPmkPÒ ÷©ØöPõÒÍ¨£mhÚ.

(A)
{ÖÁÚ |Øö£¯º ¹. 36,000–US ©v¨¤h¨£mhx.

(B)
ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ ©v¨¦ :


\µUS – ¹. 18,000


{»® ©ØÖ® Pmih® – ¹. 33,900


PhÚõÎPÒ – ¹. 15,750


C¯¢vµ® – ¹. 37,500


PhÜ¢÷uõº – ¹. 21,000.

(C)
"¤' – ¹. 30,000  •®, "]' – ¹. 7,500 TkuÀ •u»õPU öPõsk Áµ÷Ásk®.

(D)
"H'–US öµõUP©õP ö\¾zu ÷Ási¯x 
¹. 24,300. •uÀ PnUQß «uz öuõøP Phß PnUQØS ©õØÓÄ®. ©Ö©v¨¥mk PnUS, TmhõÎPÒ ‰»uÚU PnUS öµõUP PnUS C¸¨¦{ø»U SÔ¨¦ ("H'–°ß Â»P¾US ¤ß) u¯õ›UP.

8. In Co Ltd. had issued 50,000 redeemable preference shares of Rs. 10 each, Rs. 8 paid. In order to redeem these shares now being redeemable, the company issued for cash 30,000 equity shares of 
Rs. 10 each at a premium of Rs. 2 per share. Out of the cash proceeds, the redeemable preference shares were paid and the balance was met out of the reserve fund which stood at Rs. 2,50,000.

Show the journal entries in the books of the company.

Cß ÷Põ ¼ªöhm 50,000 «m¦ •ßÝ›ø© £[SPøÍ £[S JßÖ ¹. 10 Ãu® öÁÎ°mhx. AvÀ 
¹. 8 ö\¾zu¨£mhx. «m¦ £[SPøÍ «m£uØS ¹. 10 ©v¨¦ÒÍ 30,000 \õuõµn¨ £[SPøÍ ¹. 2 •øÚ©zvÀ öÁÎ°mhx. C¢u¨ £[S ÂØÓz öuõøP ©ØÖ® Põ¨¦ {v°À C¸¢u ¹. 2,50,000–À C¸¢x «m¦ •ßÝ›ø©¨ £[SPÒ ö\¾zu¨£mhÚ. {Ö©zvß HmiÀ CuØPõÚ SÔ¨¦PøÍ¨ £vP.

9. A Ltd. game notice of its intention to redeem its outstanding Rs. 40,00,000. 4.5% debentures stock at 102% and offered the holders the following option to apply for redemption money to subscribe for 

(a)
6% cumulative preference shares of 
Rs. 20 each at Rs. 22.50 per share

(b)
6% debenture stock at 96%

(c)
To have their holdings redeemed for cash.


Holders of Rs. 17,10,000 stock accepted the proposal (a)


Holders of Rs. 14,40,000 stock accepted the proposal (b).


And the remaining stock holders accepted the proposal (c).


Pass necessary journal entries in the books of the company.

"H' ¼ªöhm öPõk£h ÷Ási¯ ¹. 40,00,000 «m£uØPõÚ AÔÂ¨ø£z u¢ux. 4.5% Phß £zvµ[PøÍ ¹. 102 Ãu® «mhuØS RÌUPõq® Áõ´¨¦PøÍ Phß £zvµuõµºPÐUS AÎzux. 

(A)
¹. 20 ©v¨¤øh 6 \uÃu® SÂÄ •ßÝ›ø©¨ £[SPÒ 22.50 Ãu®.

(B)
6 \uÃu® Phß £zvµ[PÒ ¹. 96 Ãu®

(C)
öµõUP®.


(A) ¹. 17,10,000 ©v¨¦ÒÍ Phß £zvµ[PøÍ öPõsh Phß £zvµPõµºPÒ •uÀ Áõ´¨ø£²®, 
(B) ¹. 14,40,000 ©v¨¦øh Phß £zvµ[PøÍ Eøh¯ Phß £zvµuõµºPÒ CµshõÁx Áõ´¨ø£²®, 
(C) Gg]°¸¨÷£õº ‰ßÓõÁx Áõ´¨ø£²® HØÓÚº. SÔ¨÷£mk £vÄPøÍ £vÄ ö\´.

10. The balance sheet of X Ltd. is follows :

	Liabilities
	Rs.
	Assets
	Rs.

	Issued share capital :
	
	Good will
	10,000

	10,000 equity shares of 
  Rs. 10 each fully paid up
	
1,00,000
	Other fixed 
  assets
	
90,000

	10,000 7% preference shares 
  of Rs. 10 each fully paid
	
1,00,000
	Stock in 
 trade
	
25,000

	
	
	Debtors
	30,000

	
	
	Profit & Loss a/c
	45,000

	
	2,00,000
	
	2,00,000


It was resolved that equity shares of Rs. 10 each be reduced to fully paid shares of Rs. 6 each and 7% preference shares of Rs. 10 each be reduced to 7 1/2% fully paid preference shares of Rs. 7 each. Number of shares in each case remained the same. It was further resolved that amount so available be used for writing off the debt balances of profit and loss account, good will account completely and other fixed assets as far as possible. There were areas of preference dividend for the last three years and it was decided that they be cancelled. You are required to make journal entries and prepare the revised balance sheet.

X ¼ªöhmiß C¸¨¦{ø»U SÔ¨¦

	ö£õÖ¨¦PÒ
	¹.
	ö\õzxPÒ
	¹.

	öÁÎ°h¨£mh £[S :
	
	|Øö£¯º
	10,000

	•uÀ 10,000 \õuõµn¨ £[SPÒ 
¹. 10 Ãu® •Êø©¯õPa 
	

	¤Ó {µ¢uµa  
 ö\õzx
	
90,000

	ö\¾zu¨£mhx
	1,00,000
	\µUS
	25,000

	7% •ßÝ›ø© £[SPÒ 
	
	PhÚõÎPÒ
	45,000

	 ¹. 10 Ãu®
	1,00,000
	C»õ£ |mh P/S
	30,000

	
	2,00,000
	
	2,00,000


¹. 10 Ãu® EÒÍ \õuõµn¨ £[SPÒ ¹. 6 •Êø©¯õP ö\¾zu¨£mh £[SPÍõPÄ®, ¹. 10 Ãu® EÒÍ 7 \uÃu® •ßÝ›ø© £[SPøÍ ¹. 7 •Êø©¯õP ö\¾zu¨£mh 7 1/2% •ßÝ›ø© £[SPÍõP ©õØÓz wº©õÛzux. BÚõÀ £[SPÎß GsoUøP°À ©õØÓ® CÀø». ÷©¾® C¢uz öuõøPø¯U öPõsk C»õ£ |mhU PnUQß £ØÖ C¸¨ø£²®, •Êø©¯õP |Øö£¯øµ²® ©ØÖ® •i¢uÍÄ ¤Ó {µ¢uµa ö\õzxUPøÍ²® ÁÇUöPõÈUPz wº©õÛzux. ‰ßÖ BskPÐUS {¾øÁ¯õP C¸¢u •ßÝ›ø© £[Põuõ¯zøu µzx ö\´¯Ä® •iöÁkzux. }[PÒ SÔ¨÷£mk¨ £vÄPøÍ¨ £v¢x ©ØÖ® v¸zu¨£mh C¸¨¦{ø»U SÔ¨ø£z u¯õ›UP.

11. When closing the books of a bank on 31st March 1991 (for the year 1990–91) you find in the ‘Loan Ledger’ an unsecured balance of Rs. 2,00,000 in the account of merchant whose financial condition is reported to you as bad and doubtful. Interest on the same account amounting to Rs. 20,000 (for 1990-91) remains to be recorded. During the year 1991–92 the bank accepts 75 paise in a rupee on account of the total payment of debt due from the merchants as on 31st March, 1991.

Pass the necessary journal entries and prepare the necessary ledger accounts in respect of the above transactions.

1991, ©õºa 31 |õÒ (1990–91 BsiØPõP) Á[QU PnUøP •iUS® ö£õÊx Phß ÷£÷µk, Â¯õ£õµ {ø» I¯©õP EÒÍ J¸ Â¯õ£õ›US öPõkzu ¤øn°À»õ Phß ¹. 2,00,000 GÚU Põs¤UQßÓx. AUPhß «uõÚ Ámi (1990–1991 BsiØS) ¹. 20,000 CßÝ® £v¯¨£hÂÀø».

1991–92 B® Bsk Á[Q AÆÂ¯õ£õ›hª¸¢x Áµ÷Ási¯ öuõøPUS ¹. 0.75 Põ_PÒ Ãu® ö£ØÖUöPõÒÍ \®©vzx. ÷©ØPõq® |hÁiUøPPÐUS ÷uøÁ¯õÚ SÔ¨¦PøÍ GÊxP. ÷£÷µmøh u¯õ›UPÄ®.

12. A company leased a colliery on 1.1.2001 at a minimum rent of 2,200, merging into a Royalty of 
Rs. 0.25 per tonne with power to recoup short workings over the first five years of the lease. The output of the colliery for the first 5 years was 2000 tonnes; 3600 tonnes, 900 tonnes, 15000 tonnes and 25000 tonnes respectively.

Give journal entries in the books of the company.

J¸ {Ö©® 1 áÚÁ› 2001–À J¸ _µ[Pzøu SøÓ¢u £m\ ÁõhøP ¹. 2,200 GßÝ®, hß JßÖUS SzuøPUS 
¹. 0.25 GÚÄ®, SøÓ EØ£zvø¯ •uÀ I¢x Á¸h Põ»zvØSÒ «mS® E›ø©²hß SzuøP J¨£¢u® HØ£kzv¯x. 5 Á¸h Põ»zvß EØ£zv R÷Ç öPõkUP¨£mkÒÍx. 2000 hßPÒ, 3600 hßPÒ, 
900 hßPÒ, 15000 hßPÒ ©ØÖ® 25000 hßPÒ. {Ö©zvß HmiÀ SÔ¨¦ £vÄPÒ u¸P.

———————

	UG–382	BCO–33











PAGE  
5

UG–382

